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Question 1. (5 marks) Consider the vectors in R*: u(6) = (cos 8,sin8,0) and v = (1,0, 1). Find all the values of the angle 8 in [0, 27) for which

the parallelepiped spanned by u(0), v and u(0) x v has volume V = 2.
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Dawson College: Linear Algebra (SCIENCE): 201-NYC-05-S1: Winter 2023: Quiz 12

Books, watches, notes or cell phones are not allowed. The only calculators allowed are the Sharp EL-531%*. You must show all your work, the correct answer is worth 1 mark the remaining marks are given for the work.
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Question 2. (5 marks) Given the lines L : { y=1 and L,: { y=—1—r¢ , find the parametric equations of the line that intersects
z=6+s 7=—6+t

both L; and L, at right angles.

iz (2,0,1), gh=(1-11) smes di Wds the lines are h:Z‘/mw//V/-

Lets  detwwrmints i€ Dt (vs mérwal"
svh =2 " 0 7+a5:5-¢2) =2 $:0

7+2s = 5-¢
0 l:_’_,t' =" f:‘l . —)6-’/‘/
G Gty <GE chtz-a 1w (B G5 -G+ 5T

o% At sveh Hal bhe two lvs have a}op,'ué’ (4 COWmOm.

o R and o art skew (s
) % 2(' the Gbae wln;’h /9a;st5 thny,[,—, 7‘(;9
’ ? ! and L. ol A i Che b w/no&_.
the closest ,wmf.(

passes thve voh the

/ i on Xp cu.J 2{;.
é—/"‘”ﬂ/? ¢ p’p;(s-;,*,-:—z,-dd)- (7425, 1,645 )
Y 0] f.f%-d.:a 0 (a-t-25,-a-t,-13+2-5)-(2,01)=¢

" )'("J"l n=e

@ Phdk-0 @ (" v,

@" ala-2-26)+ (-12+E-3)=0
@" -l (-2-t-25) - (-27¢)+ (124¢~5)=

Q" -16-t ~55=0
e -9 +3tt+ 50

@... +3@m . ~5p ~145350 = ¢4 =7 ¢4
o o= (-2-(9)-2(H), e (), i (4~ (=)
o (lt_6|\“’)

ad Pt lxy,2) = (7+ 204, 1, 60 = (~1,0,> )

0“. d'_' (XI%Z):: (—l,l,a)+t(2)~g)u4) téﬂ



